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30197622 pnup A-4 /xerox/ PLUZ hwwn 1900 66.5 35
39263200 gpwublywluihi ghpp /92 ppp/ PLUZ hun 500 2.5 5
30192160 ouiphfu PLUZ hwwn 250 2.5 10
30234300 nuunwply ujuyjwupuly PLUZ hunn 100 4.0 40
22811170 upnudubiph pougp PLUZ hun 100 2.0 20
2851200 pnpwwwbwl Yndqud PLUZ hunn 150 3.0 20
30197233 pnpwwwbwl phikpnyg PCUZ hwun 80 1.6 20
30197231 prpwywbwlju $uy PLUZ wnnith 1000 5.0 5
30197232 Pnpwywiwl wpuquljup PCUZ hunn 80 3.6 45
30197232 pPnpwywbwl wpwquljup/ RLU2 hwn 170 3.4 20
qnuunp/wunhl
30197233 | pnpwywhwl pkghuwnp /Ephoquilwish / PLUZ huwn 800 4.0 5
30192137 Uwwnhwn /hwuwpuly/ PLUZ hunn 70 0.7 10
30197100 | Ywphsh dbwnwnuyupk Yuwbp /Alhghiy/ PLU2 wuinuh 100 2.0 20
30192128 qphs /qunhluynp/ PCUZ hunn 150 7.5 50
35821400 npno PCUZ hwn 2500 5.0 2
- 30141210 hwioihy dbpktm PLUZ huin 2200 2.2 1
24911200 unupbd /kiniyuhuy/ PCUZ hwwn 200 2.0 10
30192730 puthwiighl uysnih fuiqu RLU2 hunn 100 2.0 20
22811120 npwdwpynuuhb kph opgkp PLUZ hunn 5 0,5 100
22811120 ppuiwplnuyht dnunph opgkp RLU2 hwn 5 6.0 1200
30197332 Yuphy/dhght/ RLUZ hunn 1750 3,5 2
30234640 $\kp hhonnnipynih 16 gp PLUZ hwwn 9000 9.0 1
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30199231 buwdwlh Spwp dhoht swihup PLUZ hunn 20 1.0 50
30199232 Opup, ks A4 $npdwnp hunfwp PLUZ hwn 50 1.5 30
30192710 Unubdunfwinhwn gpuubiyuljught PLUZ hunn 180 0.9 5
30192720 Qbdwiliphy Adwiplykp/ PLUZ huin 200 1.0 5
30192135 Gpwdhnk vhonly vunnhinh hundup PLUZ hun 80 0.4 5
30192136 Uwwnpn gpudphunk PLUZ hwwn 250 0.750 3

Uhomn/Aljumbihjwljwiy/
30192700 Pwbint_nunhy, gdwpwdwinidiikpny PLUZ huin 70 0.350 5
30192100 (rtwnplt hwuwpwl dhohli swithup PLUZ hwin 100 0.6 6
30192760 Uphs PLU2 huin 250 1.0 4
22800000 nunbpkpp PCUL hunn 200 1.0 5
punuukip 150.0
Spwhbuwynpuuhtl ympkp
09132200 Plughli / nkgnuyup/ PLUZ 1hwp 315 148,050 470
09132200 BLughli / nkgnijyup/ PLUZ 1hwp 360 151,200 420
09132200 PLughti / nkignuyup/ PLUZ 1hwp - 500,750 -
09121700 Phwlub quq PCUL Jud 165 300.0 1818
plunundkip 1100.0
Utipklwtbkph guipdhstikph dwukp b
wuwpuqubkp 300,0
Uwypuitip
50111300 Ulinjwnnn 215/65 R15 H202 PCUL hunn 22000 88,0 4
50111300 ‘Uljunny 215/55 R16 $2000 PLUZ hunn 26000 104,0 4
plunudkip PCUZ npud - 192.000 -
Uypulip
45461100 Chuwlymp hudwjupuy bvnwpwtsh -- — 7 125,200 =
pupwghl inpnguwh hwdwp
45461100 Ly PLUZ hwn 300 12 4
45461100 Uyunndwn whgunnhy PLUZ huin 7500 15,0 2
45461100 Mnudk hwnnpyuyup PLUZ, Ukwnp 150 0,150 1
39530000 Zunnuljh gnpg PLUZ hun 2500 2.5 1
44511110 Pwh phuluyht PLUZ hwwn 850 17 2
44511110 Fwhh thuwjnk peiul PLCUZ hwwn 400 172 3
44511110 Pwh udhbiughla PCUZ huin 3800 7.6 2
44511170 Onghu ALUL hunn 1200 1.2 1
34911120 Plplwuwyuy PLUZ hwwn 12000 12.0 1
31500000 Lwidy Eyntind PLU2 huin 1000 5.0 5
39241200 bnph Uk uyghgnpduljwi dpunn PLUZ huwn 5500 5.5 1
34921440 Ul pny; /wnppudwiy/ PLU2 huwn 1300 3.9 3
45461100 Ygulwu 32*1 PCUZ hun 550,01 1100,02 2
45461100 dhpnp oph 601 PLUZ hunn 4500 4,5 1
45461100 Ygudwu 25*25 PCUZ hun 700 0,700 1
45461100 Uliln b dbnwnwlul £CU2 huwin 1099,99 1099,99 1
45461100 Luy 63 RLUZ huin 949,99 949,99 1
45461100 Yhtunpy 1/2 PLUZ hunn 1200 1,2 1
45461100 Qpuwiswth 1/2 PLUZ hwwn 6500 6,5 1
45461100 dhjnp opp 172 PLUZ huwwn 1800 1,8 1
plunudkip 200.0 -
Stunbuwljwb b uwihhghkuhl iympkp
39812600 Upuwnwhwihs dwppnn dheng PLUZ huna 400 1.6 4
398312800 Uwwlh jdubugne hkgnuy 1) PLUZ hun 1800 1.8 1
39812100 Zunnwl dwppnn hkgnily 24 PCUZ hunn 2500 2.5 1
39812410 Ywhnujph thuykgling hong 0.5 | PLUZ hunn 2600 2.6 1
39812600 Uwwuph jJugduii htnniy PCUZ hun 500 2.0 4
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Uypwlp
30237100 Zundwljuipghy PCUZ npud s 551.0 g
30237100 INTEL DUAL CORE G4400 PLCUZ npud 145000 145.0 1
wpngkunpnpny hunfwljupghy
42121190 ph wymiy PCUZ npud 104000 104.0 1
plugudkip - 800.0 -
Ughaunuiip
45111440 Zwdwjupwy bnwpuith hwpwljhg e npud 2600,0
wnwpwdph pupkljupgnud
punuukup npud 2600,0
71241200 Lupuugdw-hEnwgnunuljuh PLCUZ npud - 400.0
wohuwnwlipitip
pliquiip npuni 24711.4
Opwgph wijuinuip Lupownypnguljut ppmpimb
pwdhti 9 jump 01 quiu 01 dpwghp 51
Qunud shwlinhuwgnn wy) Swhubp
99000000 pupwghy npudwonphiikp 20U4-hi npuwd 8927.0
plunulkup npud 8927.0
Opwgph winjwtmudp Cinhwinip pinyph wy Swn-u
pwdhti 1 junudp 3 quu 3 dpwghp 51
Ownujnipjnih
50310000 Cunhwlnip pinyph wy) Swrwnipinih 795.478
09120000 Zwluijwplunught juywbibkph PLUZ fud 750 70.0 93.33
ququ hgpurnpnud
90670000 Uwlijuuyyuipinkgh PCUZ npwd 40000 40,0 a=s
whinwhwimu/gkrunhqughw/
90710000 Nwpunwnhp J&wphkp PLUZ npud = 264.522 ~=
punudkip 374.522
Opwigph wijwnidp Snyyph tjundundp hpuyniph
qpuiignd
pwdhli 01 junudp 06 nuiu 01 dpwghp 52
Ownujnipjnih
70330000 Quiuunwpht npud 200.0
dwpuynipinil/ gnuph
gqpuitignid/
_ 72160000 whw nnipp/wywpnunhp npud 50.0
J&wplkp/
punudtup 250.0
Opugph winjuwbinudp Lihpunynipynit wy) swhnyp
shtnuwyinnn juquuljkpympjmbtkpht
Pudht 10 jumup 07 quu 01 dpughp 55
Sunud shwlinhuwgnn Swjuu npud 100.0
99000000 punudkup npud 100.0
Opwgph wijwimup Spgwlju dhgwywyph
wuwonywimpinih /Unpuhwbnpym by
Pwdhli 05 funudp 01 nuiu 01 dpwghp 51
Uy pulip
09134200 Thqbkjuyht Junkjhp PCUZ 1hwp 330 300.0 909
/undwnuht/
Qunmud shwbinhuwgnn wy
Swifuukp
99000000 wiunnuupd npud 1230.0
punudkup 1530.0




Opwgph wijubmy Zufujbipught dpwlnyph b wquin
dudwlgh juqumlkpuynud

Pwdht 08 junudp 02 quiu 03 dpwghp 51

Uypulip
39220000 Udwhopju in]kpukp PLUZ npud - 200.0 -
/EpLlawutphi/
39221140 ]Epukp/qninuphul PLUZ npud - 500.0 -
Yubiwbg dhg. opyw wnphy/
punudkup 700.0
Ownwjnipjnih
55241200 Zwbquunh juquulpuynud PCUZ npud 500.0
punudkip 1200.0
Opwgph wijuwimd Zwbghun dpwlnyp Ypnt
Pwdhli 08 funwdp 05 nuiu 01 dpwghp 51
Uuputip
Uy putiph dknp plipnud
/npunkqhtt b hundwliph == 447.0 --
hhdtunpdub opdut
uhpdwsd/
03321300 Nghawp PLUZ huwn 495000 297.0 6
15911100 Onh PCUZ Zunn 1200 48.0 40
15981100 Zwiipurjhti gnip PLCUZ Zunn 250 . 10.0 40
15981500 Snyugnighs puukhp PLUZ Zunn 250 10.0 40
15331178 Nwhwénjugyws pubpwpbnkh PCUZ huwn 800 12.0 15
15540000 Nubhp PLUZ Yq 2000 10.0 5
15911300 Ynlyuly PCUZ Zuwn 2000 40.0 20
03200000 Yupunndhy PLUL Uq 200 6.0 30
03210000 Zwmg PCUZ Zunn 200 10.0 50
33141118 Uudknnghly PLUZ Zun 200 4.0 20
punudkp 150.0
39220000 Uwwnwbhikp tnpuuyjuwl PLUZ qpud 15000 217.500 14.5
qoygkpht
Ownuynipjnih
.79220000 Zwplynn wy) Eyudnuntitphg = npud 33000 33.0 1
Ejundwnnughtt hwiply
22100000 qppkp PLUZ npud - 2.5 -
pugudkip 700.0
55241200 Zwlquunh juquulkpynud -- - 60.0 ---
Uypuitip
22400000 Sndukph dknp ppnud PLUZ npud 300 40.0 133
punudklp 100.0
Qumud shwbinhuwgnn wy
Swuukp
99000000 wolumnwdupd 4650.0
Upjuwnuiip
45261167 Upwlnyph b ACUZ npud = 990,0 3
ohiwpwpupnipinih
4530000 Uswlnyph b juughunuwyg PCUZ npud 2 990,0 i
Ykpwinpngnid ]
Uy puiip
39151100 Ubknuiuikp PLUZ npud & 600,0 #
39151100 Upnnikp PLUZ npud & 300,0 &
Cliufbiip 8330,0




Unghwjujwh wuwpnywbnipjnit

Pwdhl 10 fumup 07 nuu 01 dpwghp 54

Simud shwlinhuwgnn wy
Swijuukp
75310000 wy] bywuwniikp pymgkhg npud 2000.0
75310000 hnuqupludnpnipjub buyywun npud 400.0
Cunudklp 2400.0
Opwgph wijwinuip Pwpdpugnyli Yppoupinh
Pwdht 09 junudp 04 quu 01 dpwghp 54
80300000 Yppwljwl bujwuwniikp pnigkhg npud 200.0
plukip 200.0
Opugph wijuwinud Upnwpht jniuwynpnipyut
gulgh hpdtwnpngnud /Ahnn. nuuwynpnipym v/
Pwdhl 06 umudp 04 nuu 01 spwghp 51
Ownuympinil
65310000 I E). Eukpghuyh Jupd PLUZ ljjwn/d 45 800.0 17777
Uuputip
44300000 [ntuwnnt uwppuynpnudubph b = 5.4 -
withpwdbon ywpwuquikph dknp
phpoud
44300000 unnnyuwl 7504 £CUZ Udtanp 2700 210.6 78
44300000 ‘ Tunnnywly 63ud PLUZ Ukwnp 1800 - 140.4 78
44300000 unnnjuly 40Ud PLUZ Ukwp 1250 50.0 40
44300000 Luupinkp PCUZ hwwn 6000 240.0 40
44300000 Ejjwupny RCUZ unuth 5000 5.0 1
44300000 Lunly PLUZ huin 2000 60.0 30
44300000 Yupk) PLUZ ubwnp 60 72.0 1200
44300000 LUkply PLUZ huin 3000 6.0 2
44300000 gkl PLUZ wupl 3000 12.0 4
plukip - 796.0 =
Ownuynipjnil
98391200 Puinpuljub Swnwnipinih 200,0
plunudkup 1801,4
Opwgph wyjwbmd Qpuijhti Yunnyghkph
owhwgnpdnud U wyuwhwywbnwd
- Pwdht 06 funudp 06 nuu 01 dpwghp 55
Ownuynipinil
65000000 opwdwwnwljwpupdui J&wp PCUZ fud 36 2500.0 69445
Uy pubip
44110000 Chuwiymph dknp phipnud fudbyne PLUZ npud 200.0
oph unnnyjuljkph
JEpuwinpnguwi hwdwp
punuukip 200.0
Sumd shwbinhuwgnn swhiu
99000000 woluwnwyupd npud 1000.0
punudkip 3700.0
Opwgph wijuimulp
Yubwy wnwpwsplbph hhdunud b wywhwywbmd
Pwdhi 05 funwlp 06 nuu 01 300,0
77211700 Ounkp PCUZ hwwn 15000 480,0 32
77211700 Qwpnkp £OUL hunn 100 30,0 300
77211700 Pthnunbkp RPLUZ hun 1800 90,0 50
Cinuuklun 900,0
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hwunnwnnmput hhlbwbinpngniy
Pwdht 09 Junwlp 06 quiu 01
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.
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Epwlinpngnud
Pwdht 04 Junudp 05 quiu 01
09134200 Hhqbpuhl Jwnbihp auniunwghy m

5%

Opwgph wijwbmup Qupswluib pinigkh
Wuwhniuunnwghi $nliy
Pwdht 11 wp 01 quu 02

Opugph wbjwbnuwip dntmuyhts pnigkh
Wuwhniuunnwghb $nlip
Pwdht 11 funwdp 01 puu 02

| s

67249,243




